1,4-Dioxane
Response Ratio

Amount Ratio

Resp Ratio = 5.56e-001 * Amt + 1.29e-001
Coef of Det (r~2) = 1.000 Curve Fit: Linear

Method Name: Z:\HPCHEM1\BNA_E\METHODS\8270-SIM-BE101617 .M
Calibration Table Last Updated: Mon Oct 16 14:54:40 2017




Hexachlorobenzene
Response Ratio

Amount Ratio

Resp Ratio = 4.22e-001 * Amt - 2.84e-002
Coef of Det (r"2) = 0.996 Curve Fit: Linear

Method Name: Z:\HPCHEM1\BNA_E\METHODS\8270-SIM-BE101617 .M
Calibration Table Last Updated: Mon Oct 16 14:54:40 2017




Response Ratio

Pentachlorophenol

Amount Ratio

Resp Ratio = 4.21e-002 * Amt - 1.65e-002

Coef of Det (r"2) = 0.996

Curve Fit: Linear

Method Name: Z:\HPCHEM1\BNA_E\METHODS\8270-SIM-BE101617 .M
Calibration Table Last Updated: Mon Oct 16 14:54:40 2017




